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73 _— —_— o
e —_— o
94 2.0 5.0m 1 2
552 0.5 1.0m 30 1
181 0.5 1.0m 30 1
451 0.5 1.0m 30 1
86 0.5 1.0m 30 1
939 2.0 5.0m 1 2
477 2.0 5.0m 1 2
173 2.0 5.0m 1 2
213 1.0 2.0m 1 2
800 1.0 2.0m 2 o
95 1.0 2.0m 2 o
86 1.0 2.0m 2 o
315 0.5 1.0m 2 o
217 0.01 0.5m 2 o
529 0.01 0.5m 2
96 0.01 0.5m 2
371 0.01 0.5m 2
243 0.01 0.5m 2
0.01 0.5m 2
571 0.01 0.5m 2
609 0.01 0.5m 1 2 o
141 0.01 0.5m 1 2 o
86 0.01 0.5m 1 o

88







0.1m

0.1 0.3m
0.3 0.5m

JR

6:00

06:00

09:00

9:00

9:40

9:50

6.4k

10:00

6.4k

500m

10:10

o

10:00

10:10

0.5 1.0m
1.0 1.5m
15 2.0m

83

2.0 25m
2.5m



0.1m

0.1 0.3m

0.3 0.5m

JR

) 5
10:20 40

) 10
10:30 60
10:40
10:50

. 40
11:00 200

JR

11:10
11:20

10:20

10:30

11:00

0.5 1.0m
1.0 1.5m
15 2.0m

84

2.0 25m
2.5m



0.1m
0.1 0.3m
0.3 0.5m

JR

) 100
11:30 350
11:40
11:50
. 200
12:00 450
( 50cm
12:10
2
12:20
12:30

11:30

12:00

0.5 1.0m
1.0 1.5m
15 2.0m

85

2.0 25m
2.5m



10

10

90



91





